
Calculator 
Interface 
  exception MathFault 
  { 
    int ErrorCode; 
    string ErrorMessage; 
  } 
 
  struct Complex 
  { 
    double Re; 
    double Im; 
  } 
 
  interface ICalculator 
  { 
    double Add(double left, double right); 
    double Subtract(double left, double right); 
    double Multiply(double left, double right); 
    double Divide(double left, double right) throws MathFault; 
 
    Complex ComplexAdd(Complex left, Complex right); 
  } 

SOAP 1.1 

Request 
<s:Envelope xmlns:s="http://schemas.xmlsoap.org/soap/envelope/"> 
  <s:Body> 
    <Add xmlns="http://www.iit.bme.hu/soi"> 
      <left>5</left> 
      <right>8</right> 
    </Add> 
  </s:Body> 
</s:Envelope> 

Response 
<s:Envelope xmlns:s="http://schemas.xmlsoap.org/soap/envelope/"> 
  <s:Body> 
    <AddResponse xmlns="http://www.iit.bme.hu/soi"> 
      <AddResult>13</AddResult> 
    </AddResponse> 
  </s:Body> 
</s:Envelope> 

  



Fault 
<s:Envelope xmlns:s="http://schemas.xmlsoap.org/soap/envelope/"> 
  <s:Body> 
    <s:Fault> 
      <faultcode xmlns="">s:Client</faultcode> 
      <faultstring xml:lang="en-US" xmlns="">The creator of this fault did not specify 
a Reason.</faultstring> 
      <detail xmlns=""> 
        <MathFault xmlns="http://www.iit.bme.hu/soi" 
xmlns:i="http://www.w3.org/2001/XMLSchema-instance"> 
          <ErrorCode>1</ErrorCode> 
          <ErrorMessage>Division by zero.</ErrorMessage> 
        </MathFault> 
      </detail> 
    </s:Fault> 
  </s:Body> 
</s:Envelope> 

SOAP 1.2 with WS-Addressing 1.0 

Request 
<s:Envelope xmlns:s="http://www.w3.org/2003/05/soap-envelope" 
xmlns:a="http://www.w3.org/2005/08/addressing"> 
  <s:Header> 
    <a:Action 
s:mustUnderstand="1">http://www.iit.bme.hu/soi/ICalculator/ComplexAdd</a:Action> 
    <a:MessageID>urn:uuid:d2bb691f-0855-44ac-8161-ec7e6b0a2a9a</a:MessageID> 
    <a:ReplyTo> 
      <a:Address>http://www.w3.org/2005/08/addressing/anonymous</a:Address> 
    </a:ReplyTo> 
    <a:To 
s:mustUnderstand="1">http://localhost/SoiSamples1/Services/Calculator.svc</a:To> 
  </s:Header> 
  <s:Body> 
    <ComplexAdd xmlns="http://www.iit.bme.hu/soi"> 
      <left xmlns:i="http://www.w3.org/2001/XMLSchema-instance"> 
        <Re>3.1</Re> 
        <Im>4.7</Im> 
      </left> 
      <right xmlns:i="http://www.w3.org/2001/XMLSchema-instance"> 
        <Re>7.6</Re> 
        <Im>2.3</Im> 
      </right> 
    </ComplexAdd> 
  </s:Body> 
</s:Envelope> 

  



Response 
<s:Envelope xmlns:s="http://www.w3.org/2003/05/soap-envelope" 
xmlns:a="http://www.w3.org/2005/08/addressing"> 
  <s:Header> 
    <a:Action 
s:mustUnderstand="1">http://www.iit.bme.hu/soi/ICalculator/ComplexAddResponse</a:Actio
n> 
    <a:RelatesTo>urn:uuid:d2bb691f-0855-44ac-8161-ec7e6b0a2a9a</a:RelatesTo> 
  </s:Header> 
  <s:Body> 
    <ComplexAddResponse xmlns="http://www.iit.bme.hu/soi"> 
      <ComplexAddResult xmlns:i="http://www.w3.org/2001/XMLSchema-instance"> 
        <Re>10.7</Re> 
        <Im>7</Im> 
      </ComplexAddResult> 
    </ComplexAddResponse> 
  </s:Body> 
</s:Envelope> 

Fault 
<s:Envelope xmlns:s="http://www.w3.org/2003/05/soap-envelope" 
xmlns:a="http://www.w3.org/2005/08/addressing"> 
  <s:Header> 
    <a:Action 
s:mustUnderstand="1">http://www.iit.bme.hu/soi/ICalculator/DivideFault/MathFault</a:Ac
tion> 
    <a:RelatesTo>urn:uuid:7a0e74dc-659e-44c2-b186-a2e524df766f</a:RelatesTo> 
  </s:Header> 
  <s:Body> 
    <s:Fault> 
      <s:Code> 
        <s:Value>s:Sender</s:Value> 
      </s:Code> 
      <s:Reason> 
        <s:Text xml:lang="en-US">The creator of this fault did not specify a 
Reason.</s:Text> 
      </s:Reason> 
      <s:Detail> 
        <MathFault xmlns="http://www.iit.bme.hu/soi" 
xmlns:i="http://www.w3.org/2001/XMLSchema-instance"> 
          <ErrorCode>1</ErrorCode> 
          <ErrorMessage>Division by zero.</ErrorMessage> 
        </MathFault> 
      </s:Detail> 
    </s:Fault> 
  </s:Body> 
</s:Envelope> 

  



WSDL 
<?xml version="1.0" encoding="utf-8"?> 
<wsdl:definitions targetNamespace="http://www.iit.bme.hu/soi" 
 xmlns:xs="http://www.w3.org/2001/XMLSchema" 
 xmlns:wsdl="http://schemas.xmlsoap.org/wsdl/" 
 xmlns:wsaw="http://www.w3.org/2006/05/addressing/wsdl" 
 xmlns:soap="http://schemas.xmlsoap.org/wsdl/soap/" 
 xmlns:tns="http://www.iit.bme.hu/soi" 
 xmlns:ns0="http://www.iit.bme.hu/soi"> 
  <wsdl:types> 
    <xs:schema targetNamespace="http://www.iit.bme.hu/soi" 
        xmlns:xs="http://www.w3.org/2001/XMLSchema" 
        xmlns:tns="http://www.iit.bme.hu/soi" 
        xmlns:ns0="http://www.iit.bme.hu/soi" 
        elementFormDefault="qualified"> 
 
      <xs:element name="Complex" nillable="true" type="ns0:Complex"/> 
      <xs:complexType name="Complex"> 
        <xs:sequence> 
          <xs:element name="Re" type="xs:double" /> 
          <xs:element name="Im" type="xs:double" /> 
        </xs:sequence> 
      </xs:complexType> 
 
      <xs:element name="MathFault" nillable="true" type="ns0:MathFault"/> 
      <xs:complexType name="MathFault"> 
        <xs:sequence> 
          <xs:element name="ErrorCode" type="xs:int" /> 
          <xs:element name="ErrorMessage" type="xs:string" nillable="true"/> 
        </xs:sequence> 
      </xs:complexType> 
 
      <xs:element name="Add" nillable="true" type="ns0:Add"/> 
      <xs:complexType name="Add"> 
        <xs:sequence> 
          <xs:element name="left" type="xs:double" /> 
          <xs:element name="right" type="xs:double" /> 
        </xs:sequence> 
      </xs:complexType> 
 
      <xs:element name="AddResponse" nillable="true" type="ns0:AddResponse"/> 
      <xs:complexType name="AddResponse"> 
        <xs:sequence> 
          <xs:element name="AddResult" type="xs:double" /> 
        </xs:sequence> 
      </xs:complexType> 
 
      <xs:element name="Subtract" nillable="true" type="ns0:Subtract"/> 
      <xs:complexType name="Subtract"> 
        <xs:sequence> 
          <xs:element name="left" type="xs:double" /> 
          <xs:element name="right" type="xs:double" /> 
        </xs:sequence> 
      </xs:complexType> 
 
      <xs:element name="SubtractResponse" nillable="true" 
type="ns0:SubtractResponse"/> 
      <xs:complexType name="SubtractResponse"> 
        <xs:sequence> 
          <xs:element name="SubtractResult" type="xs:double" /> 



        </xs:sequence> 
      </xs:complexType> 
 
      <xs:element name="Multiply" nillable="true" type="ns0:Multiply"/> 
      <xs:complexType name="Multiply"> 
        <xs:sequence> 
          <xs:element name="left" type="xs:double" /> 
          <xs:element name="right" type="xs:double" /> 
        </xs:sequence> 
      </xs:complexType> 
 
      <xs:element name="MultiplyResponse" nillable="true" 
type="ns0:MultiplyResponse"/> 
      <xs:complexType name="MultiplyResponse"> 
        <xs:sequence> 
          <xs:element name="MultiplyResult" type="xs:double" /> 
        </xs:sequence> 
      </xs:complexType> 
 
      <xs:element name="Divide" nillable="true" type="ns0:Divide"/> 
      <xs:complexType name="Divide"> 
        <xs:sequence> 
          <xs:element name="left" type="xs:double" /> 
          <xs:element name="right" type="xs:double" /> 
        </xs:sequence> 
      </xs:complexType> 
 
      <xs:element name="DivideResponse" nillable="true" type="ns0:DivideResponse"/> 
      <xs:complexType name="DivideResponse"> 
        <xs:sequence> 
          <xs:element name="DivideResult" type="xs:double" /> 
        </xs:sequence> 
      </xs:complexType> 
 
      <xs:element name="ComplexAdd" nillable="true" type="ns0:ComplexAdd"/> 
      <xs:complexType name="ComplexAdd"> 
        <xs:sequence> 
          <xs:element name="left" nillable="true" type="ns0:Complex" /> 
          <xs:element name="right" nillable="true" type="ns0:Complex" /> 
        </xs:sequence> 
      </xs:complexType> 
 
      <xs:element name="ComplexAddResponse" nillable="true" 
type="ns0:ComplexAddResponse"/> 
      <xs:complexType name="ComplexAddResponse"> 
        <xs:sequence> 
          <xs:element name="ComplexAddResult" nillable="true" type="ns0:Complex" /> 
        </xs:sequence> 
      </xs:complexType> 
    </xs:schema> 
  </wsdl:types> 
 
  <wsdl:message name="ICalculator_Add_InputMessage"> 
    <wsdl:part name="parameters" element="ns0:Add"/> 
  </wsdl:message> 
 
  <wsdl:message name="ICalculator_Add_OutputMessage"> 
    <wsdl:part name="parameters" element="ns0:AddResponse"/> 
  </wsdl:message> 
 
  <wsdl:message name="ICalculator_Subtract_InputMessage"> 



    <wsdl:part name="parameters" element="ns0:Subtract"/> 
  </wsdl:message> 
 
  <wsdl:message name="ICalculator_Subtract_OutputMessage"> 
    <wsdl:part name="parameters" element="ns0:SubtractResponse"/> 
  </wsdl:message> 
 
  <wsdl:message name="ICalculator_Multiply_InputMessage"> 
    <wsdl:part name="parameters" element="ns0:Multiply"/> 
  </wsdl:message> 
 
  <wsdl:message name="ICalculator_Multiply_OutputMessage"> 
    <wsdl:part name="parameters" element="ns0:MultiplyResponse"/> 
  </wsdl:message> 
 
  <wsdl:message name="ICalculator_Divide_InputMessage"> 
    <wsdl:part name="parameters" element="ns0:Divide"/> 
  </wsdl:message> 
 
  <wsdl:message name="ICalculator_Divide_OutputMessage"> 
    <wsdl:part name="parameters" element="ns0:DivideResponse"/> 
  </wsdl:message> 
 
  <wsdl:message name="ICalculator_Divide_MathFault"> 
    <wsdl:part name="fault" element="ns0:MathFault"/> 
  </wsdl:message> 
 
  <wsdl:message name="ICalculator_ComplexAdd_InputMessage"> 
    <wsdl:part name="parameters" element="ns0:ComplexAdd"/> 
  </wsdl:message> 
 
  <wsdl:message name="ICalculator_ComplexAdd_OutputMessage"> 
    <wsdl:part name="parameters" element="ns0:ComplexAddResponse"/> 
  </wsdl:message> 
 
  <wsdl:portType name="ICalculator"> 
    <wsdl:operation name="Add"> 
      <wsdl:input wsaw:action="http://www.iit.bme.hu/soi/ICalculator/Add" 
message="ns0:ICalculator_Add_InputMessage"/> 
      <wsdl:output wsaw:action="http://www.iit.bme.hu/soi/ICalculator/AddResponse" 
message="ns0:ICalculator_Add_OutputMessage"/> 
    </wsdl:operation> 
    <wsdl:operation name="Subtract"> 
      <wsdl:input wsaw:action="http://www.iit.bme.hu/soi/ICalculator/Subtract" 
message="ns0:ICalculator_Subtract_InputMessage"/> 
      <wsdl:output 
wsaw:action="http://www.iit.bme.hu/soi/ICalculator/SubtractResponse" 
message="ns0:ICalculator_Subtract_OutputMessage"/> 
    </wsdl:operation> 
    <wsdl:operation name="Multiply"> 
      <wsdl:input wsaw:action="http://www.iit.bme.hu/soi/ICalculator/Multiply" 
message="ns0:ICalculator_Multiply_InputMessage"/> 
      <wsdl:output 
wsaw:action="http://www.iit.bme.hu/soi/ICalculator/MultiplyResponse" 
message="ns0:ICalculator_Multiply_OutputMessage"/> 
    </wsdl:operation> 
    <wsdl:operation name="Divide"> 
      <wsdl:input wsaw:action="http://www.iit.bme.hu/soi/ICalculator/Divide" 
message="ns0:ICalculator_Divide_InputMessage"/> 
      <wsdl:output wsaw:action="http://www.iit.bme.hu/soi/ICalculator/DivideResponse" 
message="ns0:ICalculator_Divide_OutputMessage"/> 



      <wsdl:fault 
wsaw:action="http://www.iit.bme.hu/soi/ICalculator/DivideFault/MathFault" 
message="ns0:ICalculator_Divide_MathFault" name="MathFault"/> 
    </wsdl:operation> 
    <wsdl:operation name="ComplexAdd"> 
      <wsdl:input wsaw:action="http://www.iit.bme.hu/soi/ICalculator/ComplexAdd" 
message="ns0:ICalculator_ComplexAdd_InputMessage"/> 
      <wsdl:output 
wsaw:action="http://www.iit.bme.hu/soi/ICalculator/ComplexAddResponse" 
message="ns0:ICalculator_ComplexAdd_OutputMessage"/> 
    </wsdl:operation> 
  </wsdl:portType> 
 
  <wsdl:binding name="ICalculator_BasicHttpBinding_Binding" type="ns0:ICalculator"> 
    <soap:binding style="document" transport="http://schemas.xmlsoap.org/soap/http"/> 
    <wsdl:operation name="Add"> 
      <soap:operation style="document" 
soapAction="http://www.iit.bme.hu/soi/ICalculator/Add"/> 
      <wsdl:input> 
        <soap:body use="literal"/> 
      </wsdl:input> 
      <wsdl:output> 
        <soap:body use="literal"/> 
      </wsdl:output> 
    </wsdl:operation> 
    <wsdl:operation name="Subtract"> 
      <soap:operation style="document" 
soapAction="http://www.iit.bme.hu/soi/ICalculator/Subtract"/> 
      <wsdl:input> 
        <soap:body use="literal"/> 
      </wsdl:input> 
      <wsdl:output> 
        <soap:body use="literal"/> 
      </wsdl:output> 
    </wsdl:operation> 
    <wsdl:operation name="Multiply"> 
      <soap:operation style="document" 
soapAction="http://www.iit.bme.hu/soi/ICalculator/Multiply"/> 
      <wsdl:input> 
        <soap:body use="literal"/> 
      </wsdl:input> 
      <wsdl:output> 
        <soap:body use="literal"/> 
      </wsdl:output> 
    </wsdl:operation> 
    <wsdl:operation name="Divide"> 
      <soap:operation style="document" 
soapAction="http://www.iit.bme.hu/soi/ICalculator/Divide"/> 
      <wsdl:input> 
        <soap:body use="literal"/> 
      </wsdl:input> 
      <wsdl:output> 
        <soap:body use="literal"/> 
      </wsdl:output> 
      <wsdl:fault name="MathFault"> 
        <soap:fault name="MathFault" use="literal"/> 
      </wsdl:fault> 
    </wsdl:operation> 
    <wsdl:operation name="ComplexAdd"> 
      <soap:operation style="document" 
soapAction="http://www.iit.bme.hu/soi/ICalculator/ComplexAdd"/> 



      <wsdl:input> 
        <soap:body use="literal"/> 
      </wsdl:input> 
      <wsdl:output> 
        <soap:body use="literal"/> 
      </wsdl:output> 
    </wsdl:operation> 
  </wsdl:binding> 
 
  <wsdl:service name="Calculator"> 
    <wsdl:port name="ICalculator_BasicHttpBinding_Port" 
binding="ns0:ICalculator_BasicHttpBinding_Binding"> 
      <soap:address location="http://www.iit.bme.hu/Services/Calculator"/> 
    </wsdl:port> 
  </wsdl:service> 
</wsdl:definitions> 

 


